=g

hHETA VT I FNARRERBROBHFRRERUFBARRIZONT

1. BHEEOK

1000

800

600

400

200

W1 EHRERHEDR
HET(A) FE A
100 - Ba,ooo
2,801
33 2,664 2,751
2,353 28 - 2,500
2,070
50 | 44 44 - 2,000
40 42
35 36 36
b6 30
24
2002221283 8 59 20 - 1,500
18
15 13 16
112 4810 9 9124 1010
5 4 4 5
2
0 - - 1,000
OO KK KK KK KKK KK KK KKK KR KKK KKK K KKK KKK KK
T oo OC OC O O O OC Of OC O OC OO OC OC OF Of OC OC Of Of OO OC OC OF o0 OC Of Of O OC OC o OO OC OC OO
= N M T W O~ 0 S AN NS N w00 AN Mt O~ 0 S N
3 - = o R - = = g L I B
g g 2 g
2. FIARKR
OF R
B2 FHREH - REABOER
/A
1200 -
TR —-—FE A 1028 1034

H27.1H

H29.1H




1BH=Y DFHREANRDHER

HmX3

CA/B)
50.0 +

< - ]
o  HT6H [ | HrezH
< m L
Hu = S Her
Hu1 S ® lhm
EO._H )] L
L o1
s 3 2 | s
s g R |
L = | He
- &9 | Ho
= - oS | Hs
5 Hv | Hy
N HE 3 | HE
ik e 3 I
A CHT8TH | HT
~ F HT'8ZH
T | Het L
N HTT Hz
a F HTT
© ot I
¥ | H6 | Hor
i W—m | He
W—h | He
CHo HL
y =
< | Ht | HS
He N | Y
H ,w | HE
HTLTH 5 | H?
Hur iy | HTzH
CHTT N Het
L N L
Hort N - HT
T 6 R < Hor
& ~ H8 S H6
g o L L
- N HL w | Hs
H | H9 Wl | H<
or o0 Hs HE e EE]
oy 0 r g Eg -
- ~ Hv = HS
oR + L
[Tp] [<s) r
= o - Ht HE
i N HT9TH < =t
n_u n_u n_u n,v . n_u n_v o & m 8 | grozH
" . T T T T T ™
< § & & & & 4 ¢ 3 g 2 g 8 °
o~ o~ — —




W5 FEHEHNFEHFAZERDIKRE  (H25. 4~H29. 1)

(A/HD

4.50 +
4.00 +
3.50 +
3.00 +
2.50 +
2.00 -

1.50 -

1.00 -

0.50 +

0-00 T T T T T T T T 1

B 6 FETIFEOHE (BFE - WEBSHE) DIKR  (H25.4~H29. 1)

1
6000 -

5091
5000 -

4000 -

3000 +

2000 -

1000 -




W7 FHAEDKR

(FRR29F1 AR )

3260 12.6%

m &5
= WEB

BRSOl
(B, RTMR)

B8 HFHRANFIABEHRDIKR

(ER2941 ARFR)
65, 9.0% 13,1.8%
y 125,17.3% = 10555
145,20.1% \
1\ /] o 30 40% = 10f%
= 201%
8,53% = 30f
401%
= 501%
= 601t
94, 13.0% 701%
132, 18.3% m 80t £
79, 11.0%

C1ETHLRHALEZZEOH D AT 721 A, BBEEE 2, 801 Akt 2R HFIT 25. 7%,



Q@F[EARA > B

BE1 FEERAS D FIFHOGREMER
" ZRAE Z = B =
I i1 . . xR . . ER . . xR
ERERA Vb N ZEREAA Db - ZEREARA Vb %
1| 24 mR/NER 43700 24 PRINER 3935] 68 KEZNZE 2251
2 121 EHA+FRk 2665 82 E /RINRE 20260121 EFH K+ F iRk 1628
3 |82 BI/RINAE 2642(125 /INER /N R = 1390[126 B /N X & 1430
4 | 68 KEENRE 26211124 B R =g 1364 71 RHRNXE 1410
b 124 AR-E]E 2871 27 BHhWC ELHE 10570124 AR-EJE 1123
6 123 ¥IaN 1= &g 20121 EH KR+ FRbe 10371123 Yyhan )1 — = | 1104
1 2]l BhWC EHE 17950123 3yan )1 == [E 1037 2 RERUE VA2 — 916
8 |71 BERARE 1730] 39 =k IR E 5 EH i 904] 78 FENRE 868
9 |39 R REHERN 1567| 81 HFT/ BENAE 7001 27 BAWC EEHHE 738
10 1126 @A X2 1512[122 3-93-VE R 688 81 AFT/ ENRE 17

BX2 FADGEWOERERS D

FEAORWERRA U F

b RAAHEEE P I kAT

38 B/ ENAE

6 PHELLEYZ—

b AFRAONRE

P EITREIMDVERE

87 MATGS2—4

3] #/OB-—FDERS

104 BRGS14—-4




